Geometry (A) Midterm Review Packet Name: Keid

Unit 1 Practice Problems:

1. Use the diagram to for the following questions:

a. Name all points that are collinear to points P and Q. b a
M

b. Name a line. M
> ) P >

Linea, Lincb, PM, NO, N, GR Linee, Lned X p N

c Namearay e -
—_ —P — =7 Y

PN, 7Y, RO, N, MP, RG, O - // \o d

Ie
e
A

d. Name a line segment /Q

— — s e

MN, NO, OR, RQ ,PY, MP, Xp, PN

2. Use the diagram to find the length of 0Q where MQ = 30, MN = 5, MN=NO, and OP=PQ.

=5=E= LA 0 __ 0Q=:20
M .

N O P Q

30-10:=20%2=10

3. If EF=2x-12, FG=3x-15, and EG=23, find the values of x, EF and FG. The drawing is not to scale.

E -l F 3%-16 G 2X-1243 %1623 ,
& - -* EF-2(10)-12

Sk-21=23
- 23 ! |E z l
‘lx:\o | FG = 3(w0)-19

w e

. L == ‘Fﬁ =\h l
4. If Tis the midpoint of SU, find the values of x and SU.
s T v R SU: 46 4§
«——- e ® X
9y 4 +25 SHEEG ]s‘u:qo ’
9(6) =45 451429 = 49 ]x=5 l
5. The endpoints of two segments are given. Find each seﬁment length. Tell whether the segments are
congruent. EF: E(1 4) F(S 1) and  GH:G(-3,1), H{1 6)
EF = (0% (1) GH = JU1--3)(6-1)*" The segments
= Jwhay . T are noy
__¢ ) {043)%06) ) oongmtm
: ‘“lﬂq : \l(q)"ﬂb‘,l = \k\b‘tlc) = m 4 0M
T

6. Find the mldpomt of a segment with endpoints A(- 8 5) and B(- 2 7}

< [ Xt yirye | [-2-a b'f‘l)_(—w, u)_ -
(1), (25)- (3:2)- [0



e XY
7. Insegment AB, M is the midpoint. Given A(2, .5,) and M(5, 7), find the coordinates of the endpoint B.

5 2t¥% 1.3Y2
1° == V2
10:-24)%, 4=3+¢Y2

[%,:8 ]n:\;,,’ > |(gn)

8. Given mAWXZ=84°, find m£LYXZ.
w X MWy + MR =mewWX2

{x + 3y
Xt3+bx-3 -84
meyX2 = b(i2) -3

-3y Ixe= g4
i (6x - 3) 7 @ \‘Y\‘-\'Xl:()q" ’

9. AB bisects 2CAD. Find the value of x.

(8x - 20)° ¥x-20:-Uxth
Yyx-a0=6
Yx=29
_ + 5)° '
— {4x+5) [%6as |

10. In the figure below, CE bisects 2DCB and CF bisects ZECB. If m£ECF = 4x+7 and m£FCB = 7x-20,
a. Solve for x. b
Ux+7=Tx-20
T=3%-10
11=3x  |%x=9
b. Determine the measure of 2DCE.
M<DCE = 43+43

[meoce - 56

c. Determine the measure of £DCA.
MDA+ h+4d+43 =\§0

MOA+1IA=\0 > mbocﬂ=8"l

11. 21 and £2 are complementary. if m£1=27°, what is m£2?
mel+mead 40 2 al+meg:-dqo

12. £3 and 44 are supplementary. If mz£4=78°, what is m#£3?

me3tmed =\ €0
me3+ =LY

\ me3 = (03¢ J



13. Solve for x. 14. Solve for x.

\
%

4x+15°
A

4x+\0+6X 42640 15%+30=-180

EX+a0+IX 410 <180

10 X+ 4p-q0 \64=160

10X - 60 | %= 10 l
=]

15. Use the diagram. Find the value of x and m41. 16. Please solve for x and y.
a4’
(4x+ 10)°
Bx+ 23)°
53¢
Unt3z py-ad 534mel =\§0 4X410 +3% 423 < 80 m
3-2a%-3d |mk\= \a1°l TR+33 =180
a5= ax Rl

H

fras]

Unit 2: Practice Problems

17. Find the value of the variable if m ||, m£1 = 2x + 44 and m45 = 5x + 38. The diagram is not to scale. Justify
your work with a theorem or postulate.

AR L EE TR 3%*"%2 l
i »
s v 3§
b=3% ¢ oxeil S4s >
7\8
%=3 [ by wrresponding \

ang\es postulae



18. Ifmz3 = 135°, then mz7 = 135"

Name the angle pair! _L.D_[LESQDﬂﬂlD%_MM:}L(l

= I = 2 = \a
19. If m£6 = 60° and m£8 = 5x°, then x 006X

*=\a

Name the angle pairl __Verfical angles 3

20. Ifm£2 =78° then ms8 = 18 °

I ¢

Name the angle pair! _Q\ernate exierior angies 8 7 )

21. I mz4 = 4x+7 and m£5 = 5x + 11, thenx = \% '

YA Tr5x 1\ \80

Name the angle pair! {0nse
gle pairl (DUECUNNG IniErior angied A% 11§20
qx=\ol
22. If m£3 = 7x+8 and m45 = 8x-6, then x = L *=\8

Name the angle pair! _altey00ie aenor anaiel g gy-b
eX-b
X‘N,

i ,:
23. Which value of x will make lines | and m parallel? e//iz_x’-lfg):/‘}

2%+30 = uy -q0
30'\'4.\("&0 / m
1202 2. e | ax-90

[%<60 | by avrernane extenor
angles (onverse \J
/

X Yy
24. What is the slope of the line passing through the points (-8, 1) and (- 5 —8)?

Y- 9\ -3-1 -9 _9q \“’“’]
: = = —z-3 m:=-3
XrX. 5"8 -5+4¢ 3 —_

25. Decide whether the lines with the given equations are perpendicular, parallel, or neither.

‘pamllc\ i

=1x+3 and y=2x-3
= Y=z borh equanons have slopes ot

m=Y2 _Mete
26. Deterq\lne whether WX and YZ ar Jaarallel perpendicular, or neither given the following points:
W{2 "1, x@ 1, v, 1) andz‘fS 3).

S\opto(rwx i--\ H—\

-’ >[n€\1’hfy ;
\
T

&
Slopeok Nz = 24 24 Tre slopes are nok Hne same and are

5L ead MOt Opposite reaprotald



27. Find the equation of a line which contains the point (2, 5) and is parallel to the line y = 3x + 5.

New Siope:3 through (28) > Y=MR+b Y=mxtb
" * 5:3(2)+b ‘j
5:bth y-3x
L=
28. Find the equation of a line which contains the point (4, -5) and is perpendicular to the line
y = 2x+3. Y=mxth Yemxtb

new Siope= - % through (4-5) -5= -3 (a)d =
m g *y -5:=-2+h Y? 3%3
i"3=b '

29. Given the parallel linesg in the picture, please prove that the mzABC = 72°.

Statements Reasons
1. Diagram w/values 1. Gwen
2. (3x +12) + (5x + 8) = 180 2. (pnsecutive \Wat. Angles Thm
3 §x%+30=\80 3. (ombine Wee Termd
4. %=\ 4. gubthaunon prop
5 X= 20 5. DWisION prop
6. mZABC = 3(20) + 12 6. Substitution Prog
7.m/ABC = 7. Simph fuation
30. Given that p| | g, please solve for x.
Justify every step using the same “proof” strategy.
Statements Reasons

1. Diagram w/values 1. Given

2. x4y : Bu-4 2. Al N0y Angles Thm
3. wy:23x-47] 3. Subfaunon Prop

4. 90= 3% 4. nAdthop Prop

5 %= 30 5. Dwiswon Pyop




Unit 3: Practice Problems

31. Classify AXYZ according to its angle
measures and side lengths.

32. Classify ARST according to its side
lengths and find value of x.

S
i \omsc \sosceles |
R A 10 5X° 10 Equilateral
15 ¢m 15 cm oncangie  2qudeg the e
% over 40°  game
‘5;!.0 ] 5‘0
%\ a3s° (N tength p - 5K :

M
{10 +2x =180
2%X:=T70 2 =359
33. Find the measure of ZYWR.

Uxvax +4b=\%0
bxt4b=\%0
bx- ¢4

= ]

Y

R

meywRz 4 ()

ImL\M‘R: 56°f

35. The three angles of a triangle are (x + 30)°,
measures.  Y+30+Un+30+0¥%-30<1%0
5% +30 =\$0

\9%= 210

36. Find the measures of angles A, B, and C.

51t11+meB =150
134+ mep =180

[meb: uo |

33

EX+5X+ 5% =180

B =160 \x=\a

34. Find the measure of ZK.

4 +36+2 =180
100+2 =180
7:80°

(4x + 30)° and (10x — 30)°. Classify the triangle by its angle
angles: (430 = uy®
4(i4)+30 = 86° > ‘Obmsc iy

w0{(wW)-30 = {10°

+4S+mepA=180
T14mef =180

Linear pavr

M<B +03 =180



For examples #42-43, find the value of x. The diagrams are not drawn to scale.
37. 38.

(4x +8)°\ (2x+ 3))

517
106z T3 +X UX+Q:-5lraxtd
i %= 3) ' Uxt§ = 2Xt5Y
X+ &= 54
2= 4p D |X=’23 ‘
39. Please find the value of x and all of 40. Please find the value of x and
the side lengths. classify by the side lengths.
5&*“?\@ 346) 1 16 | &
m b
X+ 11 3x + 1 (9x — 1) fi
X =3 xX+)
W=2X t) 5 + 16);
. X
2’;" B 10 22X . |Equ\\at€rG\ ’
X t\b=qx-\i
2s)+§ :‘\3 ] *=9
— - b= 4% -l
17=4%
41. Find the value of x and y, then classify the triangle by its angles. \X= 0119 ’
{Syy)' Toy—ay/ 94-5=10g-ul 4q+49q +12%+22=1%0
\ -5=4y-4\ 12X t120 2180

30:4y 121X= 0

{12x+ 22)° @ W

42. Find the value of x and the perimeter of APQR if APQR is an isosceles triangle where PQ = QR, PR=x+1,
PQ=2x+1,and RQ =3x- 8.

2%t = 3x-8
1= X-%

]

Perinercy = 10419419

R '5r8‘ 0

3(4)-8 \—ﬂ \Pﬂ&%unm ’



For questions #43-46, use AABC with coordinates A(1, 7), B(5, 2) and C(0, -2).

43. Draw the triangle in the coordinate plane. r A
44, Find the slopes of each side.

i -1 :
5 56° 5°5 YA
|

I

Me=%1, -5 Mg s 22 -4

0pposite reuprocal stopes
45. Find the length of each side.

A

AC: {2175 {00 < es@) = JEin & & 4.

¢+C
= 1) -\ t-6)* - = %0,
8= N2V (AP < (o) = {asaie < ' ¢ o4 since 2 5ides N _ !
B I_(-z-z)‘+(o~s)‘ J@rn e <oz = {0 o0y orethesame, | | ! | -
1s0scetes A 11 —1 1
46. Prove that AABC is an isosceles right triangle. ' ' '
AB Y BG - \sosceles friangie
AB L BC: Right mange
47. Use the diagram. Which additional congruence is needed to prove AABC = ADEF?
—a— ' D
a.) By SSS pe = FE B
¥
b.) BySAS «pZ<p A
C
= = o F E
48. Given: AC = DB ,AB 1 CB,DC 1 BC
Prove : £CAB = £BDC C D
! hyp v
kg v
A B nght s o
Statements Reasons
1.AC = DB ,AB 1 CB,DC 1 BC 1. Given

N

2. £CBA and £BCD are right angles * Debinihon of perp endicular Wnes

3. ACBA and ABCD are right triangles

w

" Dehnthon ot Rignt Triangies

SN 4.
B < Refiexive Prop

> Aehe 2 Apop T HL

6. £CAB = £BDC .
CPCTO




49, Given : A is the midpoint of BD, BC = D 17—t
" Prove : AABC = AADC

c
Statements Reasons
1. A is the midpoint of BD, BC = DC 1.
. Given

_— = 2. Reflexive Propert

ACY AG s
3. —uin 3.

A% 2 AD Detmihon ot midpoint
4, AABC = AADC 4.

§SS

Unit 4 Review: See Unit 4 Test Review Packet



